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%13 (c) to people without this gene variant

(e) less is better when it comes to health
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Did the student answer the question?

If YES, mark the student’s answer based on scoring Guideline I Content Correctness and Guideline II
Language skills

If NO, mark the student’s answer based on Guideline II Language skills ONLY

Guideline I Content Correctness

Clarity . Clear ideas and arguments. Each sentence should reinforce the purpose of the paragraph.
Cohesion . The paragraph has beginning, middle, and end, and all its part connected.

Guideline IT Language Skills
Grammar

Complexity

Vocabulary range and accuracy
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craft / an army / of / robots / no / bigger / than / a speck / of / dust

(G

folds / down / small / enough / to / fit / in / a car’ s / trunk
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(2)
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much higher than that of

consists of atoms carbon and

allow us to keep the vaccine active
such that it causes serious damage to
breaks lactose down into

what the compound is made up of

&M 3

7 Go straight and make a right at the end of this street.

4 How long does it take on foot ? F 71zl How long does it take by
walk ?

) @past,@across, @next @take
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